
Differentiability	-	Class	XII

Past	Year	JEE	Questions

Questions

Quetion:	01

If	 	is	differentiable	at	every	point	of	the	domain,	then	the	values	of	a

and	b	are	respectively	:
A.	
B.	
C.	
D.	

Solutions

Solution:	01

Explanation

As	f(x)	is	differentiable	so	it	is	also	continuous,

at	x	=	1,

	......	(1)

As	f(x)	is	differentiable,	so	at	x	=	1

L.H.D.	=	R.H.D.

From	(1),	

f (x) = {
1
|x|

a + bx2
; |x| ≥ 1
; |x| < 1
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f (x) = f (x)lim
x→1−

lim
x→1+

⇒ a + b = 1
1

⇒ a + b = 1

⇒ 2ax = − 1
x2

⇒ 2a = −1

⇒ a = − 1
2

b = 3
2


